| Efficiency vs Dxy |

0.05¢

< - : : : : : : : : :
o) - . . . . . . . . .
e
< R H I T R
0 A HRGCas SLE 1 RS S SE S S
K = S A Y 1 I S A
(O L
KT N S A S L S A S A
A S
T
0.02f v b e
OLSE-
L T 0 0 B
0.008F it L L

J..Q Illlillllillllillllil

Ratio

..............................

s

1

_2B20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_mkFit_TToriginal
[Efficiency vs Dz | |—s— DQM_mkFit_TT_JanUpdate-noErr

—— DQM_mkFit_TT_JanUpdate-noErr1H
%0.05 ; : ; .

QOUS[-
045

Q - : : : : :
.@'04: : : : : :
O r : H H . .
GEO35 I I AR I I AR
O o : : : il :

T o 1 11 | MO A
0.025F o[t 4d T
0.02f -
0.015F {1

0.01F---- E..".'!_n"._ W “" ...........
RS O L 1 (LA M S

.9 O:I 11 1 Iinli LUl + 11 1 |
= 1.4:— ........................
o 1.2 eeeeehate | I D S

1:— ------------ +* I T

2030
TP dz (cm)



	Contents
	Page 1


